
SAP ABAP table TDS_TVRRUR {Revenue Recognition: Account Det. 'Unbilled Receivables'}

TDS_TVRRUR

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KTOPL [CHAR (4)]

AKONT [CHAR (10)]

SAKUR [CHAR (10)]

SAKUC [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 TDS_TVRRUR-AKONT = SKA1-SAKNR 

0..N
1  TDS_TVRRUR-SAKUC = SKA1-SAKNR 

0..N

1  TDS_TVRRUR-SAKUR = SKA1-SAKNR 0..N

1 T000

MANDT [CLNT (3)]

 TDS_TVRRUR-MANDT = T000-MANDT 

0..N
1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 TDS_TVRRUR-KTOPL = T004-KTOPL 

0..N

1

T681A

KAPPL [CHAR (2)]

 TDS_TVRRUR-KAPPL = T681A-KAPPL 

0..N

1


